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* 1 irreducible components of dim¢ = 0, with total 30 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings
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a1 = \ —y* 4 202
u3—2u
ag = —u?
7+4u — 43
u7 3ud +2ud +u

u14 + 7ut? — 18u!0 + 19ud — 4ub —4ut + 1
w't — 6u? + 1300 — 10u® — 2ub + 4u* + w2

—ud +4u” —5ud +2ud —u )

ag =
ayq =
a5 = \ —yM + 509 —8u" +3uP +ud +u

<u27+12u25+~~+10u —bu )

a0 =\ —u® +13u?" + - +3ud +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?® + 52u?¢ — 4u?° — 292u2* + 48?3 + 912u?? — 244u?! —
1684120 + 6720 + 1752u'® — 1056u'" — 752u'® + 896u'® — 2120 — 332u'3 + 180u'? +
64u't +156u'0 — 112u” — 96u® + 64u” — 20u® — 8u® + Su* 4 20u® — 12u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C7 WO+ —u+1

c3,Cs WO —uP +. o —Bu+5
c4, 9, C10 v +uP 4 tutl

6 w0 —3u? . —u 1

Cs w3 —Tu? o —39u+ T




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C7 y30—27y29+--~+3y+1
€3, s y30 —19y* + ..+ 115y + 25
c4, 9, C10 y*0 +25y% + - 4+ 3y +1
6 T Y |
cs y?0 + 5y* + - + 383y + 49




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = 1.006930 + 0.2064801 1.56161 + 3.896291 | —0.45772 — 4.153651
uw= 1.006930 — 0.2064801 1.56161 — 3.896291 | —0.45772 + 4.153651
u = —0.832034 + 0.1699031 —2.20811 4 0.029481 | —4.37202 4 0.470711
u = —0.832034 — 0.1699031 —2.20811 — 0.029481 | —4.37202 — 0.470711
u = 0.266850 4 0.7212021 0.29816 4 7.691681 | —2.03043 — 6.902871
u = 0.266850 — 0.7212021 0.29816 — 7.691681 | —2.03043 + 6.902871
U 0.703536 + 0.3103261 1.91248 — 3.856001 0.77500 + 2.050291
u= 0.703536 — 0.3103261 1.91248 + 3.856001 0.77500 — 2.050291
u = —0.228391 4 0.7107891 —4.18456 — 3.642201 | —7.10429 4 4.721671
u = —0.228391 — 0.7107891 —4.18456 4 3.642201 | —7.10429 — 4.721671
uw=0.169829 + 0.6991551 —0.939054 — 0.3733251 | —4.20674 — 0.534711
u= 0.169829 — 0.6991551 —0.939054 + 0.3733251 | —4.20674 4 0.534711
u = —0.379833 4 0.5405971 5.15123 — 1.732951 3.31181 + 4.098791
u = —0.379833 — 0.5405971 5.15123 4 1.732951 3.31181 — 4.098791
u = 1.351750 + 0.1048381 3.53116 4 0.398321 | —0.06522 + 1.626431
u = 1.351750 — 0.1048381 3.53116 — 0.398321 | —0.06522 — 1.626431
u = —1.363600 + 0.1945791 4.77317 — 3.515971 2.79512 4 5.122761
u = —1.363600 — 0.1945791 4.77317 + 3.515971 2.79512 — 5.122761
u = —1.360050 + 0.2705501 3.89598 — 3.129791 0.91872 + 1.861861
u = —1.360050 — 0.2705501 3.89598 + 3.129791 0.91872 — 1.861861

u= 1.39028 + 0.282531 0.96260 + 7.247491 | —2.00000 — 5.634521

u= 1.39028 — 0.282531 0.96260 — 7.247491 | —2.00000 + 5.634521

u = —1.42059 + 0.091961 8.32515 4 2.694861 5.41344 — 2.427831

u = —1.42059 — 0.091961 8.32515 — 2.694861 5.41344 4 2.427831

u = —1.40881 + 0.285981 5.64069 — 11.352001 2.55345 4 7.313161

u = —1.40881 — 0.285981 5.64069 + 11.352001 2.55345 — 7.313161

U 1.42434 + 0.205461 10.89310 + 4.476651 7.02629 — 3.573451

uw= 1.42434 —0.205461 10.89310 — 4.476651 7.02629 + 3.573451

S
|

0.179795 + 0.4714391

—0.135164 + 0.9951041

—2.48606 — 6.822951

u =

0.179795 — 0.4714391

—0.135164 — 0.9951041

—2.48606 + 6.822951




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C2,C7 w0 e w1

€3,C5 w?® —u? . —Bu+5
€4, C9, C10 WO+ 4 rut 1

6 u? —3u* 4+ —ut 1

s u — 7w = 39u T




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
cryeaer |y =27y 4+ 3y 41

cs3, s y30 —19¢9%° + ... + 115y + 25
€4, Cy, C10 v+ 2597 + - 43y + 1

C6 vy 4yt

Cs y*0 +5y* + - + 383y + 49




